T
HER AN FHLERED vom B

ELER L=102.6m

NO. O

NO.O +11.0 .
T-n -b{I (t=3cm) A=421m2

bA"Yyh™ T (t=3cm)  A=63m2

N0+8105 HREMBELINEIT W=0.7m (MAIEE)

- NU.O t=10cm
{8 4% B 48 (W=15cm B9€&) L=171.8m
N
D
™
+
< <
=F
3.90 NO.O +18.7
B H K
S$=1:300
bA" vy T 3. 90 NO.0' +11.0
sL % (W=15cm B 4&)  L=95. 6m o~
©
o ~— (aN] (92 :
o o o = N
= = = = o
=
6.70 NO.O +1.5
~ —~ ~ 1. 80 NO. O’
o Lo Lo
< o o o ~ <
v g g  PEE EEREMBRLSSEDREEHEE
TER AN FHLRghE BEEETE
< & % =
RIS (W=15cm B €)  L=76.2m ~ = TEER PHED FH P
S 2 R & R HEES 1/3
KEIEL EERERE BRI ER




hmiEf/ RINFHILEAH®ED

&

E

NO. 0

B

$=1:400

T E

S=1:500

= N. o
= gg gg é;
BIIEE L=100.0m
_ =N -b{ I (t=3cm) A=380m2
N BEHELIHHET W=1.0m (AESEH)
'l, Ir-n.—. t=10cm
I /\ w480 &4 B 5 (W=15¢cm E1€) L=200.0m
A I I
o — N (ap] <t Lo
= -~ -~ -~ -~ -~
= = = = = =
20.00 20. 00 20.00 20.00 20. 00
() (@) (=) o () (@)
ol © o > ~ —
o s o o o <t

w 3 g |DABEE EXREVERRLSBELIRERFERR
mEM/ RIFHILE®RMIR HEEEIE

[T Bl
TEGT FEM FEHF A
R E X = MmEm&ES 2/3

HETEL 3 AR B & BT I R




b
A E *om K

$=1:500

NO. 0
+20. 8
24.8
+35. 6

\ﬁ j @ MTHEE L=35.6m
N '

A_———___,' “= N
455—-——*— = \{.Q‘ NO.0~+24.8 #-n" -U{I (t=3cm) A=67m2
TN
—  \5 \\ +24.8~+35.6 IVHY-MEHERREE - TAIPMMEEEE T (t=5cm) A=31m2
I\
\ 7B 5% B 48 (W=15cm B &) L=71.2m
[
B KH K
S$=1:200
IVh - ERYIET T
o (e 0] (o] ©
o o < Lo
= N N (9]
+ + +
20. 80 4.00
L __10.80
o o o sy
™ » <t <
o~ o~ o™ o~
]
10. 80 w g g |DHEE EXRENSELSBEIRHEGEER
15.00 Bl e o ~ HE /AN FEHL SRR HEEETE
724 —JT IVh)-rEEERREE (t=10cm) . -

FAEZBETL (WMEHM t=bdom)

- TEHAT REMm XE R
TRAI7MhEEE T (t=bcm) R & E REES ~ 3/3

FHETEL 32 B B & BRI R




